NECRTEL
NETWORKS

Jonathan’s Survey Results

Ben Brown 07-Mar-2000




N

Survey Numbers

Surveys Provided: 180
Surveys Returned: 166 (92.2% of provided)

Valid Surveys: 149 (89.8% of returned)
— 1 Survey was missing 1 response (Risk)

Incomplete Surveys: 17 (10.2% of returned)
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Question #1 Rankings
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Question #1 Results
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Question #2 Results

Cost Risk Manufacturability
w 65 0 32 o9 36 % 42 .
90
. y 2 o] : 20 o L g g 1 &2
15 0 1 2 1 9 3 21 4 4 4 |_| ©13 2 1 1 |_|
o L= |—|.—.I_||_||_| ol ‘|—|‘|—|‘|—||_|I_| 127.—“.—.‘ ‘ ‘I_|‘|_|‘l_|‘|_|‘ ‘ ‘
Time To Market Multivendor Support Implementation Complexity
40 34 32 40 32 36 28 40
24 =
12 g 3 1 4 ” 3 2 3 H ] 4 4 H
o L= — — |_| |_| ‘ |_| : : 0 (| M = — : |_| : (| : |_| : : ; 0 |_| B o B o |_| = |_|
Compatibility with Existing Optical Compatibility with Existing MAC Common Use Across Industry
Parts Definition
w029 2599
v g s 6 9 7 18 g 14 5 192 ||, 41 o o 49 7 19 14 13 24 36 7 22H4665131516 8
P802.3ae Standard's Complexity Compatibility with Existing Logic Licensing Costs
Parts
. 27 = 22 20 - 16 o0 -39
”HgB 8H12|—| 5 9 ]—7—1-1—}9—8—1-3—1-2—9—}9—}9—1-31 “°|—|101510111910151262

0

7

0

1 2 10

1 2 3 4 5 6 7

8

9

NERTEL

NETWORKS

Ben Brown 07-Mar-2000




